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B sz B E B ouT IN GROSS | HDCP NET
i iEH ER 38 38 76 10.0/ 66.0
261 kH =RX 38 41 19 13.0/ 66.0
3L P EZER 37 40 17 11.0/ 66.0
MiIBE B— 36 42 18 11.0 67.0
5i fEs BE 39 39 18 10.0 68.0
66L BER = 40 42 82 14.0/ 68.0
161 EfE A 40 38 18 9.0/ 69.0
i BR =& 38 40 18 9.0/ 69.0
Off P&  =[Z 36 40 76 7.0/  69.0
1042 3RO FiE 42 42 84 14.0/ 70.0
Nz E= 41 42 83 13.0, 70.0
126z EIR &5 39 43 82 12.0/ 70.0
1361 X HF 41 40 81 10.0) 71.0
1461 BB R 43 42 85 14.00 71.0
156|5R  B1E 41 41 82 11.00 71.0
1661 #iA  IEFN 43 39 82 10.0 72.0
[RAoALA:: 44 40 84 12.0/ 72.0
1861 | # £ KEB 41 39 80 7.0  73.0
1965 & H &A 43 44 87 14.0/ 73.0
206 XT3 39 42 81 8.0 73.0
211 5% =5 39 46 85 12.0/ 73.0
2205 | fa 2 42 41 83 9.0/ 74.0
236 A FFE 42 42 84 10.0 74.0
2841 | B2 42 44 86 12.0/ 74.0
2501 FEiE  JLiE 45 42 817 12.0/ 75.0
264 FA 42 40 82 7.0/ 75.0
21t/ &50 FZ 44 43 87 12.0,  75.0
28610 KL 43 44 87 12.0/ 75.0
201 | ¥ERE R 41 48 89 14.00 75.0
304 AL HFSH 48 42 90 14.0/ 76.0
S| Il & 43 38 81 5.0 76.0
320 | KA EH=E 42 39 81 5.0 76.0
B mH R 43 41 84 8.0 76.0
AL EIRE F= 45 43 88 12.0/ 76.0
35 | pkRE  FH 48 43 91 14.00 71.0
366 EH HH 42 47 89 12.00 71.0
ML &/ 44 41 85 1.0/ 78.0
/| im —18 44 45 89 11.0/ 78.0
| fBH EEK 42 45 87 9.0/ 78.0
406 i PRI 46 45 91 12.00  79.0
M4IEE —X 42 49 91 12.0/  79.0
4241 |BE 1EB 41 49 90 9.0/ 81.0
4300 R R= 44 49 93 9.0/ 84.0
4461 RER B 54 49 103 14.0/  89.0
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